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Separation Positive Ions:  Work from top to bottom of solubility chart!!               

1.         Ag+      Mg2+    Ba2+ 

i) Add:            NaCl(aq)           Filter Out:       AgCl(s)   Net Ionic equation:  Ag+     +  Cl-  AgCl(s) 

ii) Add:           Na2SO4(aq)       Filter Out:       BaSO4(s)   Net Ionic equation:  Ba2+     +  SO4
-2  BaSO4(s) 

iii) Add:          NaOH(aq)         Filter Out:       Mg(OH)2(s)  Net Ionic equation:  Mg2++2OH- 
Mg(OH)2(s) 

2.         Pb2+     Ba2+     Sr2+ 

i) Add:            NaCl(aq)           Filter Out:       PbCl2(s)  Net Ionic equation:  Pb+2     +  2Cl- PbCl2(s)  

ii) Add:           NaOH(aq)         Filter Out:       Ba(OH)2(s)   Net Ionic equation:  Ba2++2OH- 
BaOH)2(s) 

iii) Add:          Na3PO4(aq)       Filter Out:       Sr3(PO4)2(s)   Net Ionic equation:  3Sr2++2PO4
-3
Sr3(PO4)2(s) 

3.         Cu+      Ca2+     Sr2+ 

i) Add:            NaCl(aq)           Filter Out:       CuCl(s)   Net Ionic equation:  Cu+     +  Cl- CuCl(s)         

ii) Add:           NaOH(aq)         Filter Out:       Ca(OH)2(s)   Net Ionic equation:  Ca2++2OH- 
Ca(OH)2(s) 

iii) Add:          Na3PO4(aq)       Filter Out:       Sr3(PO4)2(s)  Net Ionic equation:  3Sr2++2PO4
-3
Sr3(PO4)2(s) 

4.         Be2+     Sr2+      Ag+ 

i) Add:            NaCl(aq)           Filter Out:       AgCl(s)  Net Ionic equation:  Ag+     +  Cl- AgCl(s) 

ii) Add:           Na2SO4(aq)       Filter Out:       SrSO4(s) Net Ionic equation:  Sr2+     +  SO4
-2 SrSO4(s) 

iii) Add:          NaOH(aq)         Filter Out:       Be(OH)2(s) Net Ionic equation:  Be2++2OH- 
Be(OH)2(s) 

5.         Be2+     Ca2+     Pb2+ 

 i) Add:            NaCl(aq)           Filter Out:       PbCl2(s)   Net Ionic equation:  Pb+2     +  2Cl- PbCl2(s) 

ii) Add:           Na2SO4(aq)       Filter Out:       CaSO4(s)  Net Ionic equation:  Ca2+     +  SO4
-2 CaSO4(s) 

  

iii) Add:          NaOH(aq)         Filter Out:       Be(OH)2(s) Net Ionic equation:  Be2++2OH- 
Be(OH)2(s) 

  

 

6. Calculate the Ksp for CaCl2, if 50.0 g is required to saturate 25.0 mL of water. 

  

50.0 g   x   1 mole 

                111.1 g        =    18.0 M                  Ksp  =  4s3      =          4(18.0)3           =            2.33  x  104 

   0.0250 L
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Separation Negative Ions:  Work from top to bottom of solubility chart!!  

1.         SO3
2-    OH-      I- 

i) Add:            Sr(NO3)2(aq)     Filter Out:       SrSO3(s)  Net Ionic equation:   Sr2+    +  SO3
2- SrSO3(s) 

ii) Add:           Zn(NO3)2(aq)    Filter Out:       Zn(OH)2(s) Net Ionic equation:   Zn2+ +  2OH-  Zn(OH)2(s) 

iii) Add:          AgNO3(aq)             Filter Out:      AgI(s)   Net Ionic equation:    Ag+    +  I- AgI(s)   

2.         CO3
2-   OH- 

i) Add:            Sr(NO3)2(aq)     Filter Out:       SrCO3(s)   Net Ionic equation:   Sr2+    +  CO3
2- SrCO3(s)  

ii) Add:           Zn(NO3)2(aq)    Filter Out:       Zn(OH)2(s)  Net Ionic equation:   Zn2+ +  2OH-  Zn(OH)2(s)  

3.         Br-       S2-        PO4
3- 

i) Add:            Sr(NO3)2(aq)     Filter Out:       Sr3(PO4)2(s)    Net Ionic equation: 3Sr2+ + 2PO4
3- Sr3(PO4)2(s)   

ii) Add:           Zn(NO3)2(aq)    Filter Out:       ZnS(s)   Net Ionic equation:   Zn2+ +  2S-2  ZnS(s) 

iii) Add:          AgNO3(aq)             Filter Out:      AgBr(s)   Net Ionic equation:    Ag+    +  Br- AgBr(s)   

4.         PO4
3-    OH-      S2- 

i) Add:            Sr(NO3)2(aq)     Filter Out:       Sr3(PO4)2(s)    Net Ionic equation: 3Sr2+ + 2PO4
3- Sr3(PO4)2(s)   

ii) Add:           Mg(NO3)2(aq)  Filter Out:       Mg(OH)2(s)  Net Ionic equation: Mg2+ +  2OH-  Mg(OH)2(s)   

iii) Add:          Zn(NO3)2(aq)    Filter Out:       ZnS(s)   Net Ionic equation:   Zn2+ +  2S-2  ZnS(s) 

5.         OH-      S2-        SO4
2- 

i) Add:            Mg(NO3)2(aq)  Filter Out:       Mg(OH)2(s)   Net Ionic equation: Mg2+ +  2OH-  Mg(OH)2(s)   

ii) Add:           Ba(NO3)2(aq)    Filter Out:       BaSO4(s)   Net Ionic equation:   Ba2+    +  SO4
2- BaSO4(s) 

iii) Add:          Zn(NO3)2(aq)    Filter Out:       ZnS(s)   Net Ionic equation:   Zn2+ +  2S-2  ZnS(s) 

  

6.         S2-        SO4
2-    Cl- 

  

i) Add:            Ba(NO3)2(aq)    Filter Out:       BaSO4(s)    Net Ionic equation:   Ba2+    +  SO4
2- BaSO4(s)  

ii) Add:           Zn(NO3)2(aq)    Filter Out:       ZnS(s)   Net Ionic equation:   Zn2+ +  2S-2  ZnS(s) 

iii) Add:          AgNO3(aq)             Filter Out:      AgCl(s)  Net Ionic equation:    Ag+    +  Cl- AgCl(s)   

  
 


